

# DISTRICT SCHOOL BOARD OF PASCO COUNTY

Kurt S. Browning, Superintendent of Schools

7227 Land O' Lakes Boulevard . Land O' Lakes, Florida 34638

Purchasing Services

Michael J. Woodall, CPPO, Purchasing Agent

813/794-2221 Fax: 813/794-2111

727/774-2221 TDD: 813/794-2484

352/524-2221 email: mwoodall@pasco.k12.fl.us

July 30, 2013

# **MEMORANDUM**

TO:

Honorable School Board Members

FROM:

Michael J. Woodall, CPPO, Purchasing Agent May

RE:

Bid # 12-030-AJ, Fencing Materials

Third Year, First Semi-Annual Renewal

US Wholesale Pipe & Tube, Inc.

On September 6, 2011, official action (attached) was taken to award the above-referenced bid to US Wholesale Pipe & Tube, Inc. This bid is a semi-annual bid, renewable at six month intervals for up to two subsequent years based upon mutual consent of both parties. The second year, second semi-annual period will expire on October 21, 2013.

Considering services have been satisfactory, Steve DeLoache, Regional Manager, US Wholesale Pipe & Tube, Inc., was contacted to verify his willingness to enter into the third year, first semiannual period of the agreement. As such, Steve DeLoache has agreed in writing (attached), to enter into the third year, first semi-annual period of the agreement.

Therefore, at this time, it is my recommendation to enter into the third year, first semi-annual period of the agreement with US Wholesale Pipe & Tube, Inc. The third year, first semi-annual period will cover the period of October 22, 2013 through April 21, 2014.

Should you have any questions regarding this matter, or if I can be of further assistance, please feel free to contact me at your earliest convenience.

MJW/dr Attachment(s)

Date/Time: July 23, 2013 08:25:00

(813) 794-2000 • (352) 524-2000 • (727) 774-2000 • www.pasco.k12.fl.us



# DISTRICT SCHOOL BOARD OF PASCO COUNTY

Kurt S. Browning, Superintendent of Schools

7227 Land O' Lakes Boulevard . Land O' Lakes, Florida 34638

Purchasing Services

Michael J. Woodall, CPPO, Purchasing Agent

813/ 794-2221 727/ 774-2221 Fax: 813/794-2111 TDD: 813/794-2484

352/ 524-2221

e-mail: mwoodall@pasco.k12.fl,us

BID RENEWAL REQUEST BID #12-030-AJ BID TITLE: Fencing Materials

Yes, I agree to renew Bid #12-030-AJ under the same terms and conditions as the existing bid for the third year, first semi-annual term. The renewal period shall be from October 22, 2013 through April 21, 2014.

No, I do not agree to renew Bid #12-030-AJ

COMPANY NAME: US Wholesale Pipe & Tube, Inc.
SIGNATURE: AMILIA LENGTH
TYPED NAME AND TITLE: Steve De Louise SE Ostante
TELEPHONE (WITH AREA CODE): 727-945-9060
FAX NUMBER (WITH AREA CODE): 727-945-9970
E-MAIL: sdeloache@usw.com
DATE: 7/15/13

The prospective bidder certifies, by submission and signature of this bid renewal form, that neither it nor its principals are presently debarred, suspended, proposed for debarment, declared ineligible, or voluntarily excluded from participation in this transaction per the provisions of Florida Statute 287.133(2)(a).

PLEASE EMAIL BACK TO: <a href="mailto:dreaves@pasco.k12.fl.us">dreaves@pasco.k12.fl.us</a>
DISTRICT SCHOOL BOARD OF PASCO COUNTY

ATTENTION: Debra Reaves
PURCHASING DEPARTMENT
20430 GATOR LANE
LAND O' LAKES, FL 34638
(813) 794-2219 (PHONE)
(813) 794-2111 (FAX)

District Wide Accreditation . Southern Association of Colleges and Schools

# District School Board of Pasco County Bid Recommendation

Bid Title	Fencing Materials Maintenance Department "As Needed Basis"	Number of Vendors Notified	184
Bid Number	12-030-AJ	Number of Bids Distributed	24
Date Solicited	July 6, 2011	Number of Vendors Bidding	3
Date Opened	August 1, 2011	Number of Formal "No Bid" Responses	0
Date Board Presentation	September 6, 2011	Funding Source	General
<b>Total Savings</b>	\$34,330.52 Est.	Grand Total of Bid	\$360,597.30 Est.

#### Recommendation:

Recommend acceptance of bid from US Wholesale Pipe & Tube, Inc., as noted on the attached bid tabulation sheet, as lowest and best, responsive and responsible "all-or-none" bid meeting written specifications.

#### Term of Contract:

This bid is for fencing materials "as needed" by the Maintenance Department for use throughout the District. This is a semi-annual bid renewable at six-month intervals for up to two subsequent years based upon mutual agreement of both parties. The first semi-annual term of this contract shall be effective from October 22, 2011 to April 21, 2012. The bid prices are firm and fixed for the first six (6) months of the contract and may be adjusted at the six-month renewal based on the Producer Price Index series ID #PCU332---332---.

### Notations and Exceptions:

Offers from the vendors listed herein are the only offers received timely as of the specified opening date and time. All other offers submitted in response to this solicitation, if any, are hereby rejected as late.

Savings were determined by averaging all bids submitted and subtracting the recommended vendor's price.

#### Bids Evaluated By:

Harvey Doers, Crew Chief, Maintenance Department

#### Bids Prepared By:

Andrea Jackson, Interim Buyer Assistant, Purchasing Department

# Reviewed and Authorized By:

Kendra Goodman, CPPO, CPPB, Purchasing Agent, Purchasing Department

District School Board of Pasco County

SEP 06 201

Date/Time: August 30, 2011 10:35:00

DATE OF OPENING: August 1, 2011 @ 2:30 PM BID TITLE: Fencing Materials - Maintenance Department		Big Sun	Products	L & W Fence		U.S. Wholesale Pipe & Tube, Inc				
		2001 Northwest 1st Avenue		10217 North 28th Street		3351 Grand Boulevard				
3ID # 12	-030-AJ		Ocala, FL 34475 Tampa, FL 33612 Holiday, FL 34610		Ocala, FL 34475		Tampa, FL 33612		Holiday, FL 34610	
	**!	September 6, 2011 Board Meeting**	-							
ITEM#	QTY	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE		
FM1	20	Chain Link Fence 42"'H x 50' Roll - #9 Gauge, 2" mesh, Hot Dip Galvanized after Weaving, Knuckleto-Knuckle, NO Barbs	\$112.05	\$2,241.00	\$96.03	\$1,920.60	\$91.00	\$1,820.00		
FM2	200	Chain Link Fence 4'H x 50' Roll - #9 Gauge, 2" mesh, Hot Dip Galvanized after Weaving, Knuckleto-Knuckle, NO Barbs	\$128.06	\$25,612.00	\$105.00	\$21,000.00	\$117.00	\$23,400.00		
FM3	10	Chain Link Fence 5'H x 50' Roll - #9 Gauge, 2" mesh, Hot Dip Galvanized after Weaving, Knuckle-to-Knuckle, NO Barbs	\$160.06	\$1,600.60	\$134.50	\$1,345.00	\$120.00	\$1,200.00		
FM4	200	Chain Link Fence 6'H x 50' Roll - #9 Gauge, 2" mesh, Hot Dip Galvanized after Weaving, Knuckle- to-Knuckle, NO Barbs	\$192.07	\$38,414.00	\$154.50	\$30,900.00	\$175.00	\$35,000.00		
FM5	1	Chain Link Fence 8'H x 50' Roll - #9 Gauge, 2" mesh, Hot Dip Galvanized after Weaving, Knuckleto-Knuckle, NO Barbs	\$256.16	\$256.16	\$228.60	\$228.60	\$260.00	\$260.00		
FM6	4	Chain Link Fence 10'H x 50' Roll - #9 Gauge, 2" mesh, Hot Dip Galvanized after Weaving, Knuckleto-Knuckle, NO Barbs	\$320.13	\$1,280.52	\$273.50	\$1,094.00	\$325.00°	\$1,300.00		
FM7	1	Chain Link Fence 12'H x 50' Roll - #9 Gauge, 2" mesh, Hot Dip Galvanized after Weaving, Knuckleto-Knuckle, NO Barbs	\$384.17	\$384.17	\$354.00	\$354.00	\$402.00	\$402.00		
FM8	50	Chain Link Fence 4'H x 50' Roll - #6 Gauge, 2" mesh, Knuckle-to-Knuckle, NO Barbs, Black	\$103.00	\$10,300.00	\$175.50	\$8,775.00	\$175.00	\$8,750.00		
FM9	1	Chain Link Fence 5'H x 50' Roll - #6 Gauge, 2" mesh, Knuckle-to-Knuckle, NO Barbs, Black	\$128.75	\$257.50	\$233.00	\$233.00	\$225.00	\$225.00		
FM10	100	Chain Link Fence 6'H x 50' Roll - #6 Gauge, 2" mesh, Knuckle-to-Knuckle, NO Barbs, Black	\$154.58	\$30,916.00	\$263.35	\$13,167.50	\$262.50	\$26,250.00		
FM11	750	Fence Dome Top Cap 1-5/8" Galvanized	\$0.58	\$435.00	\$0.47	\$352.50	\$0.66	\$495.00		
FM12	1	Fence Dome Top Cap 1-7/8" Galvanized	\$0.96	\$0.96	\$0.61	\$0.61	\$0.81	\$0.81		
FM13	1000	Fence Dome Top Cap 2-3/8" Galvanized	\$1.42	\$1,420.00	\$0.81	\$810.00	\$0.69	\$690.00		
FM14	500	Fence Dome Top Cap 2-7/8" Galvanized	\$1.67	\$835.00	\$0.92	\$460.00	+ \$0.80	\$400.00		
FM15	1	Fence Dome Top Cap 4" Galvanized	\$3.27	\$3.27	\$1.92	\$1.92	\$2.10	\$2.10		
FM16	2500	Fence Dome Top Cap 1-5/8" Aluminum	\$0.55	\$1,375.00	\$0.44	\$1,025.00	\$0.49	\$1,225.00		
FM17		Fence Dome Top Cap 1-7/8" Aluminum	\$0.75	\$1,875.00	\$0.54	\$1,350.00	\$0.24	\$600.00		
FM18	1	Fence Dome Top Cap 2-3/8" Aluminum	\$0.91	\$0.91	\$0.66	of Pasco C	\$0.72	\$0.72		

DATE OF	OPENI	ING: August 1, 2011 @ 2:30 PM	Big Sun	Products	L&W	Fence	U.S. Wholesale	Pipe & Tube, Inc.
BID TITLE: Fencing Materials - Maintenance Department		2001 Northwest 1st Avenue		10217 North 28th Street		3351 Grand Boulevard		
BID # 12	-030-AJ		Ocala, F	FL 34475	Tampa,	FL 33612	Holiday, FL 34610	
	**(	September 6, 2011 Board Meeting**						
ITEM#	QTY	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
FM19	1000	Fence Dome Top Cap 2-7/8" Aluminum	\$1.29	\$1,290.00	\$0.85	\$850.00	\$0.75	\$750.00
FM20	1	Fence Dome Top Cap 4" Aluminum	\$1.95	\$1.95	\$1.85	\$1.85	\$1.50	\$1.50
FM21	1000	Fence Dome Top Cap 1-5/8" Aluminum, Black	\$0.96	\$960.00	\$0.68	\$680.00	\$0.33	\$330.00
FM22		Fence Dome Top Cap 2-1/2" Aluminum, Black	\$1.36	\$1,360.00	\$0.94	\$940.00	\$1.00	\$1,000.00
FM23		Fence Dome Top Cap 3" Aluminum, Black	\$2.53	\$2,530.00	\$1.11	\$1,110.00	\$1.25	\$1,250.00
		Fence Post (Corner) 3" O.D. x 13' Heavy Duty, Hot	VIDEO 1 000		The state of the s	Allowed Control	Sandarates Williams	Waterway state of the control of
FM24	1	Dip Galvanized, Steel Tubing, S.S. 40	\$72.65	\$72.65	\$75.00	\$75.00	\$57.85	\$57.85
FM25	1200	Fence Post 2" O.D. x 6', S.S. 20, Steel Tubing, Hot Dip Galvanized	\$12.57	\$15,084.00	\$9.68	\$11,616.00	* \$10.07	\$12,084.00
FM26	1200	Fence Post 2" O.D. x 8', S.S. 20, Steel Tubing, Hot Dip Galvanized	\$16.76	\$20,112.00	\$12.83	\$15,396.00	\$13.75	\$16,500.00
FM27	1000	Fence Post 2" O.D. x7', S.S. 20, Steel Tubing, Hot Dip Galvanized	\$14.67	\$14,670.00	\$11.29	\$11,290.00	\$8.00	\$8,000.00
FIVIZ/	1000	Fence Post 2-1/2" O.D. x 6', S.S. 20, Steel Tubing,	ψ14.07	\$14,070.00	Ψ11.20	Ψ11,230.00	ψ0.00	Ψ0,000.00
FM28	1	Hot Dip Galvanized	\$16.71	\$16.71	\$14.50	\$14.50	\$17.50	\$17.50
7 11123		Fence Post 2-1/2" O.D. x 7', S.S. 20, Steel Tubing,						
FM29	750	Hot Dip Galvanized	\$19.50	\$14,625.00	\$15.24	\$11,430.00	\$16.22	\$12,165.00
		Fence Post 2-1/2" O.D. x 8', S.S. 20, Steel Tubing,	,					
FM30	1000	Hot Dip Galvanized	\$22.30	\$22,300.00	\$17.31	\$17,310.00	\$16.22	\$16,220.00
FM31	1	Fence Post 3"x 13', S.S. 20, Steel Tubing, Black	\$88.90	\$88.90	\$90.00	\$90.00	\$66.00	\$66.00
FM32		Fence Post 2"x 6', S.S. 20, Steel Tubing, Black	\$16.37	\$16,370.00	\$17.00	\$17,000.00	\$12.70	\$12,700.00
FM33	1000	Fence Post 2"x 8', S.S. 20, Steel Tubing, Black	\$21.83	\$21,830.00	\$22.63	\$22,630.00	\$16.95	\$16,950.00
FM34	800	Fence Post 2"x 7', S.S. 20, Steel Tubing, Black	\$19.10	\$15,280.00	\$20.10	\$16,080.00	\$12.00	\$9,600.00
FM35	500	Fence Post 2 1/2"x 6', S.S. 20, Steel Tubing, Black	\$22.20	\$11,100.00	\$18.96	\$9,480.00	\$12.85	\$6,425.00
FM36	500	Fence Post 2 1/2"x 7', S.S. 20, Steel Tubing, Black	\$25.80	\$12,900.00	\$25.06	\$12,530.00	\$21.40	\$10,700.00
FM37	500	Fence Post 2 1/2"x 8', S.S. 20, Steel Tubing, Black	\$29.57	\$14,785.00	\$25.06	\$12,530.00	\$17.12	\$8,560.00
FM38		Fence Post 3"x 7', S.S. 20, Steel Tubing, Black	\$42.55	\$21,275.00	\$30.15	\$15,075.00	\$33.13	\$16,565.00
1100	300	Fence Post 1 5/8"x 21', S.S. 20, Steel Tubing,	ψτ2.00	ΨΖ1,Ζ10.00	ψου, το	\$10,070.00	Ψ00.10	¥ 10,000.00
FM39		Black SE	\$47.89	\$47,890.00	\$51.45	\$51,450.00	\$36.78	\$36,780.00
FM40		Fence Post 3" O.D. x 7', S.S. 20, Steel Tubing, Hot Dip Galvanized	\$27.39	\$13,695.00	\$21.74	\$10,870.00	\$22.25	\$11,125.00

of Pasco County

DATE OF OPENING: August 1, 2011 @ 2:30 PM  BID TITLE: Fencing Materials - Maintenance Department		Big Sun	Products	L & W Fence		U.S. Wholesale Pipe & Tube, Inc.		
		2001 Northwest 1st Avenue		10217 North 28th Street		3351 Grand Boulevard		
BID # 12-	2-030-AJ		Ocala, FL 34475		Tampa, FL 33612		Holiday, FL 34610	
	**(	September 6, 2011 Board Meeting**						
ITEM#	QTY	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
FM41	350	Fence Post 3" O.D. x 9', S.S. 20, Steel Tubing, Hot Dip Galvanized	\$35.21	\$12,323.50	\$27.67	\$9,684.50	\$28.65	\$10,027.50
FM42	10	Fence Top Rail 1-5/8" x 21', Hot Dip Galvanized S.S. 20, Swedged End, (61/bundle)	\$36.16	\$361.60	\$1,678.10	\$16,781.10	\$1,738.50	\$17,385.00
FM43	2	Fence Top Rail 1-3/8" x 21', #16 Gauge, Hot Dip Galvanized, Swedged End, (91/bundle)	\$22.80	\$45.60	\$1,556.81	\$3,113.62	, \$950.04	\$1,900.08
		Fence Top Rail 1 5/8" x 21'. Galvanized S.S. 40,					1 · · · · · · · · · · · · · · · · · · ·	
FM44	200	Plain on Both Ends	\$46.44	\$9,288.00	\$36.75	\$7,350.00	\$34.00	\$6,200.00
FM47	200	Fence Sleeves 1-3/8" x 6" Hot Dip Galvanized	\$0.92	\$184.00	\$0.79	\$158.00	\$0.50	\$100.00
FM48	1	Fence Strap 1-3/8" Offset, Tension Band, Hot Dip Galvanized	\$0.32	\$0.32	\$0.26	\$0.26	\$0.20	\$0.20
FM49	300	Fence Strap 1-5/8" Offset, Tension Band, Hot Dip Galvanized	\$0.37	\$111.00	\$0.28	\$84.00	\$0.29	\$87.00
FM50	1	Fence Strap 1-7/8" Offset, Tension Band, Hot Dip Galvanized	\$0.37	\$0.37	\$0.26	\$0.26	\$0.29	\$0.29
FM51	3000	Fence Strap 2-3/8" Offset, Tension Band, Hot Dip Galvanized	\$0.40	\$1,200.00	\$0.29	\$870.00	\$0.29	\$870.00
FM52	1000	Fence Strap 2-7/8" Offset, Tension Band, Hot Dip Galvanized	\$0.52	\$520.00	\$0.35	\$350.00	\$0.34	\$340.00
FM53	1	Fence Strap 3-1/2" Offset, Tension Band, Hot Dip Galvanized	\$1.02	\$1.02	\$1.25	\$1.25	\$0.97	\$0.97
FM54	1	Fence Strap 4" Offset, Tension Band, Hot Dip Galvanized	\$0.78	\$0.78	\$0.75	\$0.75	\$0.63	\$0.63
FM55	1000	Fence Strap 1 3/8" Offset, Tension Band, Black	\$0.77	\$770.00	\$0.48	\$480.00	\$0.20	\$200.00
FM56	1500	Fence Strap 1 5/8" Offset, Tension Band, Black	\$0.76	\$1,140.00	\$0.48	\$480.00	\$0.60	\$900.00
FM57	500	Fence Strap 2" Offset, Tension Band, Black	\$0.82	\$410.00	\$0.77	\$385.00	\$0.40	\$200.00
FM58	1500	Fence Strap 2 1/2" Offset, Tension Band, Black	\$0.92	\$1,380.00	\$0.76	\$1,140.00	\$0.70	\$1,050.00
FM59	1000	Fence Strap 3" Offset, Tension Band, Black	\$1.09	\$1,090.00	\$0.90	\$900.00	\$0.75	\$750.00
FM60	100	Fence Strap 4" Offset, Tension Band, Black	\$1.36	\$136.00	\$1.53	\$153.00	\$0.97	\$97.00
FM61	1	Fence Strap 1-3/8" Center, Brace Band, Hot Dip Galvanized	\$0.42	\$0.42	\$0.35	\$0.35	+ \$0.33	\$0.33
FM62	1200	Fence Strap 1-5/8" Center, Brace Band, Hot Dip Galvanized	\$0.43	\$516.00	\$0.30	\$360.00	\$0.29	\$348.00
FM63	1200	Fence Strap 1-7/8" Center, Brace Band, Hot Dip Galvanized	\$0.44	\$528.00	\$0.31	\$372.00	\$0.20	\$240.00

Page 3 of 5

Oistrict School Board of Pasco County

DATE OF OPENING: August 1, 2011 @ 2:30 PM BID TITLE: Fencing Materials - Maintenance Department		Big Sun	Products	L & W Fence		U.S. Wholesale Pipe & Tube, Inc.		
		2001 Northwest 1st Avenue		10217 North 28th Street		3351 Grand Boulevard		
BID # 12	-030-AJ		Ocala, I	-L 34475	Tampa, FL 33612		Holiday,	FL 34610
	**	September 6, 2011 Board Meeting**						
ITEM#	QTY	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
		Fence Strap 2-3/8" Center, Brace Band, Hot Dip			**************************************			
FM64	1000	Galvanized	\$0.44	\$440.00	\$0.35	\$350.00	\$0.30	\$300.00
		Fence Strap 2-7/8" Center, Brace Band, Hot Dip						
FM65	1000	Galvanized	\$0.55	\$550.00	\$0.39	\$390.00	\$0.32	\$320.00
		Fence Strap 3-1/2" Center, Brace Band, Hot Dip						
FM66	1	Galvanized	\$1.04	\$1.04	\$1.25	\$1.25	\$0.70	\$0.70
		Fence Strap 4" Center, Brace Band, Hot Dip						
FM67	1	Galvanized	\$0.85	\$0.85	\$0.75	\$0.75	\$0.81	\$0.81
FM68	500	Fence Strap 1-5/8" Center, Brace Band, Black	\$0.97	\$485.00	\$0.52	\$260.00	\$0.22	\$110.00
FM69	500	Fence Strap 1-3/8" Center, Brace Band, Black	\$0.93	\$465.00	\$0.49	\$245.00	\$0.17	\$85.00
FM70	500	Fence Strap 2" Center, Brace Band, Black	\$1.05	\$525.00	\$0.54	\$270.00	\$0.22	\$110.00
FM71	500	Fence Strap 2-1/2" Center, Brace Band, Black	\$1.08	\$540.00	\$0.87	\$435.00	\$0.70	\$350.00
FM72	200	Fence Strap 3" Center, Brace Band, Black	\$1.23	\$246.00	\$0.94	\$188.00	\$0.80	\$160.00
FM73	100	Fence Strap 4" Center, Brace Band, Black	\$1.56	\$156.00	\$1.33	\$133.00	\$0.95	\$95.00
		Fence Tension Bar 3/16" x 5/8" x 34" Hot Dip					00 Feb. 20 40 125-17507	
FM74	1	Galvanized	\$1.10	\$1.10	\$1.00	\$1.00	\$2.13	\$2.13
10 /880/0 /8		Fence Tension Bar 3/16" x 5/8" x 40" Hot Dip	W 200					
FM75	1	Galvanized	\$1.29	\$1.29	\$1.00	\$1.00	\$2.20	\$2.20
3 743.71390	,	Fence Tension Bar 3/16" x 5/8" x 46" Hot Dip		*		7	10.1001001000	
FM76	600	Galvanized	\$1.49	\$894.00	\$1.00	\$600.00	\$2.06	\$1,236.00
		Fence Tension Bar 3/16" x 5/8" x 58" Hot Dip		7		· · · · · · · · · · · · · · · · · · ·		51 51
FM77	200	Galvanized	\$1.89	\$378.00	\$1.29	\$258,00	\$1.35	\$270.00
	200	Fence Tension Bar 3/16" x 5/8" x 70" Hot Dip	7 1100	75,5,55				CONCINE OF STREET
FM78	1000	Galvanized	\$2.26	\$2,260.00	\$2.23	\$2,230.00	\$3,16	\$3,160.00
FM79	50	Fence 36" Tension Bar, Fiberglass, Black	\$2.30	\$115.00	\$1.53	\$76.50	\$1.20	\$60.00
FM80	200	Fence 48" Tension Bar, Fiberglass, Black	\$2,45	\$490.00	\$1.53	\$306.00	\$2.50	\$500.00
FM81	100	Fence 60" Tension Bar, Fiberglass, Black	\$3.08	\$308.00	\$1.91	\$191.00	\$2,90	\$290.00
FM82	500	Fence 72" Tension Bar, Fiberglass, Black	\$3.75	\$1,875.00	\$2.30	\$1,150.00	\$3.50	\$1,750.00
		Fence Eye-Top Loop Cap, 1-5/8" x 1-5/8"		1.1			W 520	25 (0
FM83	1000	Galvanized	\$1.01	\$1,010.00	\$0.92	\$920.00	\$0.60	\$600.00
1 11100	1000	Fence Eye-Top Loop Cap, 1-7/8" x 1-5/8"	Ψ1.01	ψ1,010.00	ψ0.0 <u>2</u>	4020.00	40,00	\$300.00
FM84	1000	Galvanized	\$1.30	\$1,300.00	\$0.98	\$980.00	\$1.10	\$1,100.00
1 1010-4	1000	Fence Eye-Top Loop Cap, 2-3/8" x 1-5/8"	Ψ1.50	\$1,000.00	Ψ0.00	φουσ.σσ	\$1.10	Ψ1,100.00
FM85	1000	Galvanized	\$1.74	\$1,740.00	\$1.22	\$1,220.00	\$0.90	\$900.00
1 MOS	1000	Calvanized	Ψ1.77	Ψ1,170.00	Ψ1.44	Ψ1,220.00	Ψο,σο	Ψ000,00

School Board

717

BID TITL	BID TITLE: Fencing Materials - Maintenance Department		2001 Northwe	st 1st Avenue	10217 North 28th Street		3351 Grand Boulevard	
3ID # 12-	D # 12-030-AJ		Ocala, FL 34475		Tampa, FL 33612		Holiday, FL 34610	
	**	September 6, 2011 Board Meeting**						
TEM#	QTY	DESCRIPTION	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRIC
FM86	1	Fence Eye-Top Loop Cap, 2-7/8" x 1-5/8" Galvanized	\$2.68	\$2.68	\$1.59	\$1.59	\$1.90	\$1.90
FM87	1	Fence Eye-Top Loop Cap, 1-5/8" x 1-3/8" Aluminum	\$0.90	\$0.90	\$0.66	\$0.66	\$0.68	\$0.68
FM88	1	Fence Eye-Top Loop Cap, 1-7/8" x 1-3/8" Aluminum	\$1.17	\$1.17	\$0.74	\$0.74	\$1.00	\$1.00
FM89	1	Fence Eye-Top Loop Cap, 1-7/8" x 1-5/8" Aluminum	\$1.23	\$1.23	\$0.94	\$0.94	\$1.05	\$1.05
FM90	11	Fence Eye-Top Loop Cap, 2-3/8" x 1-5/8" Aluminum	\$1.65	\$1.65	\$1.26	\$1.26	\$1.20	\$1.20
FM91	1000	Fence Eye-Top Loop Cap, 2" x 1-5/8" Black	\$2.50	\$2,500.00	\$1.15	\$1,150.00	\$1.60	\$1,600.00
FM92	200	Fence Eye-Top Loop Cap, 2 1/2" x 1-5/8" Black	\$3.17	\$634.00	\$1.92	\$384.00	\$2.00	\$400.00
FM93	100	Fence Eye-Top Loop Cap, 3" x 1-5/8" Black	\$6.44	\$644.00	\$2.25	\$225.00	\$2.50	\$250.00
FM94	1	Fence Rail End Cap 1-3/8" Aluminum	\$0.56	\$0.56	\$0.48	\$0.48	\$0.55	\$0.55
FM95	1	Fence Rail End Cap 1-5/8" Aluminum	\$0.89	\$0.89	\$0.75	\$0.75	\$1.10	\$1.10
FM96	1	Fence Rail End Cap 1-3/8" Galvanized	\$1.12	\$1.12	\$0.78	\$0.78	\$1.00	\$1.00
FM97	1000	Fence Rail End Cap 1-5/8" Galvanized	\$0.96	\$960.00	\$0.75	\$750.00	\$0.75	\$750.00
FM98	200	Fence Rail End Cap 1-3/8" Black	\$0.93	\$186.00	\$0.92	\$184.00	\$0.50	\$100.00
FM99	100	Fence Rail End Cap 1-5/8" Black	\$2.27	\$227.00	\$0.23	\$23.00	\$1.00	\$100.00
FM100	75	Tie Wire 8-1/4" #9 Gauge Aluminum, 100/Bag	\$7.00	52500	\$4.11	\$308.25	\$6.00	\$450.00
FM101	50	Carriage Bolts w/Nuts 5/16" x 1-1/4" 100/Box	\$8.00	\$400.00	\$8.00	\$400.00	\$8.50	\$425.00
FM102	1	Carriage Bolts w/Nuts 5/16" x 2" 100/Box	\$11.00	\$11.00	\$7.00	\$7.00	\$14.00	\$14.00
FM103	50	Carriage Bolts w/Nuts 5/16" x 2-1/2" 100/Box	\$12.00	\$600.00	\$8.00	\$400.00	\$9.50	\$475.00
FM104	1	Carriage Bolts w/Nuts 3/8" x 2" 100/Box	\$18.00	\$18.00	\$30.00	\$30.00	\$18.00	\$18.00
FM105	10	Carriage Bolts w/Nuts 3/8" x 2-1/2" 100/Box	\$18.37	\$183.70	\$36.00	\$360.00	\$18.00	\$180.00
FM106	50	Carriage Bolts w/Nuts 3/8" x 3" 100/Box	\$21.00	\$1,050.00	\$21.00	\$1,050.00	\$14.00	\$700.00
FM107	25	Carriage Bolts w/Nuts 3/8" x 3-1/2" 100/Box	\$23.00	\$575.00	\$17.00	\$425.00	\$16.00	\$400.00
		Barb Wire #12-1/2 Gauge 4 pt. Domestic Class						
FM108	5	One	\$113.96	\$569.80	\$125.00	\$625.00	\$56.50	\$282.50
		Barb Wire #12-1/2 Gauge 4 pt. Domestic Class						
FM109	2	One Black	\$191.00	\$382.00	\$189,00	\$378.00	\$119.00	\$238.00
FM110	10	Hog Rings, #9 gauge, Steel Zinic Coating, 25 LB	\$97.75	\$977.50	\$48.00	\$480.00	\$35.00	\$350.00
		Hog Rings, #12-1/2 gauge, Steel Zinic Coating, 25			-0			
FM111	1	LB	\$101.25	\$101.25	\$45.75	\$45.75	\$40.00	\$40.00
FM112	2	Hog Rings, Black Aluminum, 1320 per box	Not Available	Not Available	\$40.75	\$81.50	\$25.00	\$50.00
FM113	150	#16 Black Ties, Aluminum, 100 per bag	\$9.00	\$1,350.00	\$7.33	\$1,099.50	\$8.00	\$1,200.00
		TOTAL ALL OR NONE BID PRICE	\$111	35.64	¢282.	250.53	\$360	597 30
		TOTAL ALL ON NONE BID FRICE	\$441,135.64		\$383,050.53		school Board .	337.30

Page 5 of 5